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17. 3

18. 5

19. 8

20. 0

Use multiplication rules to determine the missing remainder for each problem.

1) 9,641÷5 = 1,928 r     1      2) 49÷5 = 9 r     4      

3) 63÷10 = 6 r     3      4) 574÷5 = 114 r     4      

5) 892÷2 = 446 r     0      6) 729÷2 = 364 r     1      

7) 26÷10 = 2 r     6      8) 373÷10 = 37 r     3      

9) 41÷2 = 20 r     1      10) 233÷5 = 46 r     3      

11) 86÷5 = 17 r     1      12) 5,079÷2 = 2,539 r     1      

13) 330÷5 = 66 r     0      14) 686÷2 = 343 r     0      

15) 1,479÷2 = 739 r     1      16) 74÷2 = 37 r     0      

17) 6,938÷5 = 1,387 r     3      18) 85÷10 = 8 r     5      

19) 878÷10 = 87 r     8      20) 570÷2 = 285 r     0      
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